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Master of Arts (Economics) 3rd Semester
1128

Opt. (iii) : BASIC ECONOMETRICS
Paper : MAECO-303 & 304 (In all Mediums)

Time Allowed : Three Hours] [Maximum Marks : 80
Note :— Attempt any five questions. Question No. 1 is compulsory.

Attempt one question each from the remaining four units.
Simple non-scientific and non-programmable calculator
is allowed.

1. Attempt any ten of the following questions in 25-30 words
each :

(i) Goals of Econometrics,

(ii) Types of Econometrics,

(iii) Types of data used in Econometric Models,

(iv) Reasons for the inclusion of a random term in an
econometric model,

(v) Define Multicollinearity.

(vi) Sources of Autocorrelation,

(vii) Explain the Park Test.

(viii)Steps involved in the Farrar-Glauber test,

(ix) State the reasons for lags.

(x) Distinguish between Distribution Lag (DL) and
Autoregressive (AR) models.
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(xi) Advantages of Almon's Polynomial Approach over Koyck's
_

Transformation of Distributed Lag Models,
(xii) Define Weierstrass' theorem and explain its applicability

in Distributed Lag (DL) models,
(xiii)Importance of SPSS.
(xiv)Give full form of STATA.
(xv) Which software is better between E-views and SPSS and

why ? 10x2=20
UNIT-I

2. Discuss in detail the methodology of Econometrics. 15
3. State and prove Gauss-Markov theorem for a Linear Regression

Model. 15
UNIT-II

4. Explain the consequences of Multicollinearity. Also discuss
the remedial measures for the problem of multicollinearity.

15
5. Write notes on :

(a) Detection of Auto correlation. 7 I/a
(b) Remedial measures for the problem of Heteroscedasticity.

7'/2

UNIT-III
6. Discuss Koyck approach for estimating DL and AR models.

15
7. Explain Rationalization of Koyck approach by Adaptive

Expectation and Partial Adjustment Hypothesis. 71/2,71/2
UNIT-IV

8. Explain how the standard statistical/econometric software
packages, namely SPSS, E-views and STATA can help in the
estimation of regression/econometric models. 5,5,5

9. The variable rdps is expenditure of Research and Development
(RRD) as a percentage of sales. Sales are measured in millions
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of dollars. The variable props is profits as a percentage of sales.
Using the data in RDCHEM. RAW for 32 firms in the

chemical industry, the following equation is estimated :
nips = 0.472 + 0.321 log(sales) + 0.050 props

(1.369) (0.216) (0.046)
n = 32 , R2 = 0.099

(i) Interpret the coefficient on log(sales). In particular if sales
increases by 10%, what is the estimated percentage point
change in rdps ? Is this an economically large effect ?

(ii) Test the null hypothesis that R & D intensity does not
change with sales against the alternative hypothesis that
it does increase with sales. Do the tests at the 5% and 10%
levels of significance.

(iii) Interpret the coefficient on props. Is it economically large ?
(iv) Does props have a satistically significant effect on rdps ?

4+4+4+3

f I

10, ? R » 25-30

(i)

(ii)

(iii)

(iv)

(v)

(vi) ^r-W*fsf£T (Autocorrelation)

(vii) VF$ ^2: ^t oMKeMI ^ I
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(viii)

(ix)

(x)

(xi)

(xii)

: i e T

(Weierstrass)

(xiv)

(xv)

. (SPSS) ^

.TT. (STATA)

2.

3. Ril9M

4.

5.

2672/EPY-10690(T)

041^1

(ar) sfffr

3ffripT (Almon)

10x2=20

15

15

15

7J/2
7'/2



X

6.

7.

TT.3TK. * c T ^T S (Koyck)

15

SRT
7I/2,71/2

8,

(STATA)

5,5,5

9. rdps

eTl̂ t ^Tcft

1 1

RDCHEM.RAW ^ %3T

% 32

rdps - 0.472 + 0.321 iog(sales) + 0.050 props

(1.369) (0.216) (0.046)

n - 32 , R2 = 0.099

(i) eTFT (fofr) TR TgW ^ oMI^i ̂  I f^T "̂ T % 3RR

10% «IS ^T t, ^T rdps ^

(ii) 3TR

5% k 10%
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(iii)

(iv) W

t ?

1 .

(l)

(ii)

(iii)\

rdps

(iv) fer

(v)

(vi) nt-H Tonya

(vii)

(viii)

(ix)

(x)

4+4+4+3

HH, Utof 25-30

1

foTH>TI

o(

ire"

f%»Ffy»r
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(xi)

(xii) (Weierstrass)

(xiii) >K.ut.

(xiv

(xv)

.i>frT. (SPSS)

.̂ .£. (STATA)

oCdHfeUl*>F

fSoT tftfbT TddldJHA H1̂ ? ?5^

oft I

y r<s<T-ii
HUHKttJH1" % (SdlftHnr F!" f%»fftf»F oft

5f I

(§) nre HfdMy

6.

7.

of

ddoiHdloid1 tfl" 5f
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. (SPSS) tlol'd c^dd

10x2=20

oftl 15

»ft VB^

15

t HKfH»F

7,8

(Koyck)

15

7Yz,7l/2
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Cffe-IV

for fort"
XJft (STATA)

9. rdps yf3H3

jU (Prop)

RDCHEM.RAW

32

5,5,5

f^

fret

tl

1 ofcf^ U^ dH'fe<So(

rdps = 0.472 + 0.321 log(sales) + 0.050 props

(1.369) (0.216) (0.046)

n = 32 , R2 = 0.099

(i) W31 (feoidl) ^ dji'oi 5f I

10%

^ ?
(ii) a

(iii)

freT t, ^ rdps

oft (fer ^ ? fof

oft fof

5% W$ 1 0%

oft I oft feel

(iv) eft iju E1" rdps 3" Htftf>M5ft §3" 3"

)•, fer
of I

3s

4+4+4+3
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